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Synopsis 
  
       This study is entitled (Yemen and Arab League 1945-1962) it aims to 
study and evaluate the Situation of Yemen and Arab League during the 
Imamate Regime, this topic was chosen to study the historical relation 
between Yemen and Arab League and to understand the conduct and 
Policy which was followed by Imamate Regime during the period from  
the time of Establishment the Arab League in 1945 ,to the and of 
Imamate Regime in  1962 .   
       This study contains an introduction of the historical situation in 
Yemen and the Arab world, before the foundation of the Arab League. 
Then it deals with the Yemeni role which was done during the 
establishment of Arab League, starting with the consultation of Arabic 
Unification in 1943, and the attitude of Yemen, moreover the invitation 
that was sent to Yemen to attend the meeting of the Preparatory 
Committee which ends with signature on  Alexandria protocol and the 
stand of Yemen towards it, in addition the study deals with the meeting of 
Political Branch Committee to compose the project of Arab League  
constitution and the stand of Yemen from it, and finally the Yemen is 
attitude from the meeting of the Preparatory Committee for the general 
Arabic congress, and the signature on the constitution of the Arab League 
in 1945. 
       This study attempts to know the attitude of Arab League from Yemen 
is the very important events from 1945 to 1962, which is the following: it 
is attitude from the coup in 1948, then its position on the coup in 1948, 
and in 1955, it is attitude from the attempt of the assassination of Imam 
Ahmad in 1961, and from the revolution in 1962, which ends the 
Imamate Regime from the hand, and to establish the Republic Regime 
from the other hand. 
       This study also examines the stand of the Arab League from the 
Yemeni British dispute and the issue of South of Yemen, from 1945 till 
1962, it also studies the two commissions of Arab League to Yemen in 
1954, by the chairman of Abdulkhaleq Hassounh, the Secretary General 
for Arab League, and in 1957, by the chairman of Ahmed Alshaqairi, the 
Assistant Secretary General for Arab League, it also mentioned the 
attitude of Arab League, from the Federation project, which was achieved 
by British colonialism to South of Yemen in 1959.  
       This study also clarifies the position of Yemen from the important 
issues which were exposed to Arab League, from 1945 to 1962, these 
issues are: the Palestine issue, which occupies a large space at the Arab 
League, and the Algerian issue, and Egypt is issue and the nationalization 
of Suez Canal and the tripartite aggression against Egypt and Kuwait 
independence and it is accession to Arab League.  




